NQIMMY BE X2 ZJIXIE( 204 68
(2t el: 20.7.31)
= ‘ ‘ 1 ‘204
T = 174 18 194 4% 58p) 6%p | 1~62p
A 7o M A 96.4 92.1 85.9 67.0 58.8 63.4 70.5
(MHAS7(8H] %) (-1.5) (-4.4) (-6.8) | (-22.8) | (-31.1) | (-20.9) | (-16.7)
M M= 95.2 88.7 83.6 65.8 61.0 68.3 72.2
A AF (MAS7(H] %) (-3.0) (-6.7) (-5.8) (-26.3) | (=31.9) | (-17.8) | (-14.1)
- o2 M= 95.9 93.6 87.0 66.5 56.1 59.9 66.4
(MUAS7(H] %) (-0.4) (-2.4) (<700 | (<19.7) | (-27.2) | (-18.4) | (-19.9)
StstM 7 M= 106.0 107.1 95.0 771 57.0 48.3 785
(MAS7(H] %) (3.3) (1.1) (-11.4) | (-13.6) | (-406) | (-47.5) | (-18.1)
A oM A 98.1 94.6 89.6 71.8 68.3 72.2 75.8
(MAS7IH] %) (-1.3) | (-3.6) | (-5.3) | (-22.2) | (-24.3) | (-13.2) | (-14.9)
M M= 94.9 89.1 84.6 67.9 64.3 727 73.7
&5 (MAS7(4] %) (-3.8) (-6.0) (-5.2) | (-25.0) | (-28.4) | (<119 | (-13.1)
o| = M= 99.8 97.4 93.0 78.9 75.8 729 77.6
(MUAS7(H] %) 0.2) (-2.4) (-4.6) | (-146) | (-124) | (-84) | (-14.4)
sl 7 M= 107.0 109.4 99.8 63.7 59.2 67.0 788
(MAS7|H| %) (4.1) 2.2) (-8.4) | (-36.5) | (-43.8) | (-32.4) | (-23.2)
A 7o M A 101.4 103.2 105.8 114.5 111.4 107.4 110.5
(MAS7(H] %) (1.8) (1.8) (2.6) (10.7) (8.0) (4.3) (5.3)
M mM= 103.0 100.7 101.9 112.0 110.4 107.2 108.5
|| @dszE e | 60 | (23 | (12 | (129 | (102) | @44 | (68
517 olE M= 984 1040088 | 11447 109.17] 092 118
(MAS7(H] %) (-1.2) (5.7) (4.6) (9.0 (3.8) (5.6) (5.6)
SlStM R M= 107.8 108.2 107.2 123.0 124.0 101.0 112.2
(MUAS7(H] %) (2.7) (0.3) (-0.9) (10.7) (17.6) (-1.0) (-0.7)
Mo M A 95.3 94.4 91.9 72.2 64.4 70.1 78.6
(MAS7(H] %) (-2.8) | (-0.9) | (-2.6) [ (-25.4) | (-34.6) | (-24.0) | (-14.5)
== M mM= 938 92.8 91.2 704 64.6 727 778
< (MAS7(4]| %) (-3.4) (-1.1) (-1.6) | (279 | (-34.4) | (-20.9) | (-14.8)
SlstM S M = 104.5 104.6 96.1 83.8 63.1 535 83.7
(MHAS7(H] %) (0.9) 0.1) (-8.2) (-8.2) (-35.9) | (-43.3) | (-12.7)
MREF T&9 13,742 | 14,080 | 12,959 751 691 827 5,359
a0l (MHAS7(8H] %) (-0.5) (2.5) (-8.0) | (-35.7) | (-43.7) | (-22.4) | (-19.0)
(;';m%) Me= =9l 15,194 | 17,141 | 17,130 1,188 1,013 1,280 7,330
e (MAS7(8] %) (4.7) (12.8) | (-0.1) | (-15.5) | (-13.0) | (9.1) (-5.7)
AKX -1,452 | -3,061 | -4,169 -437 -322 -453 -1,971
Ao Z>0ff o of 440,288 | 465,005 | 473,162 | 37,700 | 40,972 | 40,432 | 230,551
:FI__FUH (MAS7(H] %) (3.8) (5.6) (1.8) (-3.0) 0.2) (5.3) (-0.2)
(Aol o| = Ehojj o4 58,654 | 60,917 | 60,040 | 3,949 5,018 4,383 | 24,233
(MAS7(H] %) (-0.4) (3.9) (-1.4) | (-21.5) | (-9.4) (-7.3) | (-18.5)
g2 2l/Ee (g ) 1131.0 | 11006 | 1165.9 | 1224.0 | 1230.0 | 1207.0 | 1207.1
77t | |7H5Htol, $/Bbl) 53.2 69.4 63.5 20.4 30.5 40.8 40.7
F) £ x2E ohY U Aol o, H2AMe YA oz £3 +HY 4 s
F) MAL Z5E ML, IS E, BRIl Eoxloll, =&¢, AojEols SAH X
= e Fo| @ ot M FAE A eS| Abd = AFA(T.02-528-4032,31)
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